pT (GeV)

2.5 < Yem. < 3.5

—4.0 < yoem. < =3.0

1.56-1.6
1.6 -1.7
1.7-1.8
1.8-1.9
1.9-2.0
2.0-22
22-24
24—-26
2.6 —-2.8
2.8-3.0
3.0-32
3.2-34
3.4—3.6
3.6 —3.8
3.8—-4.0
4.0—-45
4.5-5.0
5.0 —-5.5
9.5 —6.0
6.0 — 8.0
8.0 —10.0

0.552 £ 0.025 £ 0.033
0.589 £ 0.025 £ 0.047
0.580 £ 0.024 £ 0.045
0.617 £ 0.025 £+ 0.044
0.667 £ 0.026 £ 0.047
0.639 £ 0.017 £ 0.044
0.695 £ 0.019 £ 0.043
0.691 £ 0.018 = 0.040
0.718 £ 0.020 £ 0.042
0.746 £ 0.023 £ 0.042
0.725 £ 0.022 £ 0.041
0.761 £ 0.025 £ 0.044
0.778 £ 0.026 £ 0.044
0.771 £ 0.028 £ 0.051
0.772 £ 0.031 £ 0.056
0.787 £0.023 £ 0.049
0.777 £ 0.028 £ 0.050
0.791 £ 0.034 £ 0.050
0.799 £ 0.053 £ 0.064
0.830 £ 0.037 £ 0.057
1.05+0.11 £0.12

0.807 £ 0.041 £ 0.067
0.790 £ 0.038 £ 0.052
0.791 £ 0.036 £ 0.046
0.939 £ 0.043 £ 0.054
0.943 £ 0.040 £ 0.058
1.005 £ 0.031 £ 0.049
1.015 £ 0.031 £ 0.048
1.117 £ 0.033 = 0.042
1.106 £ 0.034 £ 0.043
1.056 £+ 0.035 £+ 0.039
1.125 £+ 0.038 £+ 0.040
1.110 £ 0.040 £ 0.048
1.028 £ 0.038 + 0.048
1.112 4- 0.046 &= 0.059
1.111 4+ 0.050 + 0.051
1.143 £ 0.038 £ 0.047
1.066 £+ 0.042 + 0.036
0.994 £ 0.046 £ 0.047
1.210 £ 0.072 = 0.095
1.084 4+ 0.053 £+ 0.064
1.01 £0.11£0.15



